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α'x(n) = cos(0.125πn)

β'x(n) = Re{ejnπ/12} + Im{ejnπ/18}

γ'x(n) = sin(π + 0.2n)

δ'x(n) = ejπn/16 cos(nπ/17)
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α'y(n) =

n
∑

k=−∞

x(k)

β'y(n) = log(1+ | x(n) |)

γ'h(n) =
1

1 + n2 + log(n4 + 1) + | sin(n)|

δ'h(n) = 0.5nu(n) + 2nu(−n)��XY�$�������$���2#������*���4�����������Z"$������������2��$���������Z$���������"��%�������
s(n) = n
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2

)n
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α'x(n) = δ(n − 1)

β'x(n) = (
1

2
)nu(n), (
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γ'x(n) = −(
1

2
)nu(−n − 1), (8E9>:BE@PBMN7:8>KP)

δ'x(n) =
[

(1

2
)n + (1

4
)n

]
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α'y(n) =

∞
∑

k=−∞

x(k)

β'y(n) =
∞

∑

k=0

x(n−kN),
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α'x(n) = n(1

2
)nu(n − 2)

β'x(n) = 1

n(−2)−nu(−n − 1) h
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x(n) =

{

αn/10 n = 0, 10, 20, . . .
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α'X(z) =
1 − z−1

1 − 1

4
z−2

, |z| >
1

2

β'X(z) =
z−1 − 1

2
(

1 − 1

2
z−1

)2
, |z| <

1

2

γ'X(z) =
z + 2

z + 1

δ'X(z) =
z2

(z − 1)(z + 3)2
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y(n) −

1

2
y(n − 1) =

1

3
x(n) +

1

6
x(n − 1)
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y(n) =

(

1 −

(

1

2

)n)
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n = 1��������"�#�����$����x(1)!����
X(z) =

2 + 6z−1

4 − 2z−2 + 13z−3{
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α'h(n) = δ(n) + 6δ(n − 1) + 3δ(n − 2)

β'h(n) = (1

3
)n+2u(n − 2)���Xz������2����3����|������W�� gY�*��$�������

x(n) = 2 cos
(nπ

4

)

+ 3 sin
(3nπ

4
+

π

8

)
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h(n) = 2

sin[(n − 1)π/2]

(n − 1)π���\n�� gY�*��$������#��3��������$�U����$���3��&�
y(n) = 0.5y(n − 1) + bx(n)}8ME=>;9=E9>:BCK:9A@:=?bN:>9s>:B:=AN:E=:KP8MO7E9>KP>?H6O:K:8PD98ω = 068BC689
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y(n) =
1

L + 1

L
∑

k=0
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